<result>

<local>
<teleconference>
<ivr>

<external>
<direction>
<incomplete>
<no_route>
<continue>
<next>

<result>

<resul t>
Resul t
</result>

® Result- , :local; external; incomplete; no_route; continue.

<local>

<resul t>
<l ocal / >
</result>

<result>
<l ocal >
<continue tag="not_| ocal "/ >
<l ocal / >
</result>

vdn:

<rul e nane="local _calls">
<condi tions>
<cdpn digits="1?2?2?%/>
</ condi tions>
<resul t>
<l ocal vdn="{1,2,3,4}"/>
</resul t>
</rul e>

vdn

<l ocal vdn="[ CGPN| CDPN| RG\{ DI G TS}]"/ >

cdpn.

® tag- , R -



<teleconference>
)y .

<resul t>
<t el econf erence/ >
</result>

<|vr>

ivr(); ,
ivr .

<resul t>
<ivr script="lvrScript"/>
</result>

® script - ivr,

<external>

<result>
<ext er nal >
<trunk value="Interfacel" wei ght="50" max_| oad="80% />
<trunk val ue="Interface2" weight="50" max_| oad="80% />
<trunk val ue="Interface3" wei ght="10"/>
</ ext er nal >

</result>
® trunk - , 0. ,-. .
® value -
® weight- ,, , . , . (1., ( "), . . ,
®* max_load- (, ), : %- « ) - ., , max_load- .- .
:, max_load weight - , - weight. , :

<ext ernal >
<trunk val ue="enms1" wei ght="50" max_| oad="60% />
<trunk val ue="ens2" wei ght="50"/>

</ external >

emsl 20., emsl 60%(.<12), ... emsl, ems2 weight- , () . >=12 - ems2.

<direction>

(direction); , ,



<result>
<direction val ue="DirectionNane"/>
</result>

® value - .

/domain/<DOMAIN>/direction/

<incomplete>

<result>
<i nconpl ete timeout="Ti meoutInMIIiseconds"/>
</result>

¢ timeout- ,,
1 <incomplete> <conditions> <final value="false" />.
<no_route>
<resul t>

<no_route isup_cause="| SUPCause"/ >
</result>

® jsup_cause - ,,isup, rel.

<continue>
, 0.

<result>
<conti nue context="Cont ext Nane" tag="Tag"/>
</result>

* context-, ., ;
¢ tag-, ‘"tag" )

<next>

, <actions>.



<result>
<next tag="Tag"/>
</result>

® tag— , "tag",



	<result>

